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1 Aphbwljut whwnnypbp b gpuubijuluyht Wniphp
1/30197631 |pninp, A4 dnpuwnh2 /21x29.7/  |RQULZ wnnith 2400 60000 25
pnpuyutwl, ynihutpujh
2(30197231 |pwnulp, duy| RLU2 hwwn 15 1500 100
3|30197232 |pnpuwwiwl, wpuquljup, pnpjw|LCU2 huwwn 100 6000 60
4130192121 |qunhlwynp qnhy PLUZ hun 50 2500 50
unuhd, pnph, vinjupupnpeh b
5(30192710 |wbkpuwnph PCUZ hwwn 300 3000 10
gpuulyuluyhtt ghpp, vuiinjul,
6/39263200 |70 winnuitih, uyhwwy kekpny £OUL hun 450 27000 60
Cunudtup 100000
2 Stnbuwljub wuyputplbp 330000
1|44511130 |Brul (&2 hwwn 2000 8000 4
2|44511110 [FPwh G huin 1800 10800 6
3[44511120 |9nquphul (094 hwwn 2000 20000 10
4144511170 |Pnghu CZ huin 2000 8000 4
539837000  [Bwuwnt) Gt hwn 400 200000 500
6(44511000 |Fnuwl CZ hwiwn 500 5000 10
744511000 |FLpwtnh G huin 1800 3600 2
Cunudkup 255400
3 Nuwhbunwdwublip
1134330000 |®Pnpuwbigdwl innith/ FUL 53 G2 hunjwpwdnt 160000 160000 1
2(34330000 |Unhy HLW -32 5o hwwn 30000 30000 1
3(34330000 |Ywipoul G hunwpwdnt 150000 150000 1
4134330000 |Uuny G2 huwn 25000 25000 1
534330000 |Ujwunul o hunn 13000 13000 i
6(34330000 |Uhownhp (7 hwn 6000 6000 1
7|34330000 |Spwipnp T2 hwn 18000 18000 1
834330000 |Cwipdupl G2 hujwpwsnt 4000 * 32000 8
9(34330000 |Pnpuwbguwlwnnuh/ 0N 1,6 wphu |52 huwjwpwdm 110000 110000 1
10(34330000 |Ywnpnn wywpwnh junuigup G2 hunjwpwdm 17000 17000 1
11(34330000 |Uwunutp (64 hunn 800 12000 15
1234330000 |Pnhuwbgdwh wpwbdquiljuy c2 hun, 8000 8000 1




13(34330000 |Zkmniutitp, muthnnuljubkp CZ liq 1500 3000 2
Uwwnbkph hinynuubitip,
14{34330000 [wnuthonuljutip G2 hwin 150 1500 10
15/34330000 |dhpnp nhq Junkihph /AT 75 (o4 hwwn 1500 6000 4
1634330000 |Ujunjunul (¢4 hwwn 14000 28000 2
17{34330000 |Upqhjuljiul junuuwup T2 huwn 600 15600 26
18(34330000 |(*hnhik junnnyuy o huitn 5000 10000 2
19|34330000 |%nnuh fugnily/unnlh/ G2 hwwn 1500 12000 8
20(34330000 |ftp dwuh gninh/Unupujt CK 5 (72 hwiwn 12000 12000
21|34330000 |Ukqukuwn C2 huiwn 250 25000 100
22|34330000 |Udpwy/ tipjup, juipd/ (6% hwwn 1500 3000 2
23(34330000 |dhjwyh qupjuinnp T2 hwiwn 450000 50000 1
24(34330000 |dppwlh gnunp e huith 5000 5000 1
25(34330000 |Cnpw c2 Ukiwnp 4000 16000 4
26(34330000 |Unwldqulju G2 hun 4000 20000 5
27|34330000 |Ywuhs T hwn 4500 13500 3
28(34330000 |Phtnbwpuwthnn gninh T2 huwn 3500 7000 p)
29(34330000 |2whuljnphsutp G2 hwwn 2500 25000 10
Ltpppulutp b onwulip, ghpgh,
30(34330000 |Uhung/Twndhy A 260 (674 hwjupwdnt 160000 160000 1
31|34330000 |Onwquahsh dhjup G2 huin 12000 12000 1
134330000 |Uwih puphy /ujhinh puphly/ (9972 hurjuipwdni 3000 6000 2
Ay h dbhawthquh winuh
2(34330000 |/Yupnphuw/ T2 hujwpwdn 50000 50000 1
309134100 |Cwpdhsh jnin nhgtjuht G 1huip 1050 157500 150
4|09134100 |Cwpdhsh jnin nhqlijwyht G2 lhwp 2500 125000 50
5(34351300 |Uuhy 1200x20 T2 huin 120000 720000 6
6(34351400 |[MTZ 82 Uuhy Ukd 155R-38 oL huitn 145000 290000 2
7(34330000 |[7S-75 onpw (1 huiwn 8000 656000 82
8|34330000 |Uwwnttp (e hwwn 2000 164000 82
9(34330000 |Uwpnlng 100U, G2 hwitn 40000 40000 1
10{34330000 |Uwpnyng 90U od hwwn 40000 40000 1
1134330000 |Uhownhp G2 huin 6000 12000 2
12(34330000 |Ghutpwwinph gnunp (/A huwn 4000 16000 4
13(34330000 |Mnuy G2 hwitn 50000 50000 1
14|34330000 |Spwlhqhuwp G huwn 5000 20000 4
15/34330000 |Ubguwnps G hwwn 3500 21000 6
16/34330000 |Ynd C2 hwun 8000 16000 2
17|34330000 |Spulppynp G2 hunn 18000 36000 7.
18(34330000 |Ulwyqwnwl/nhuljh G hwiwn 15000 60000 4
19|34330000 |Uw/wihwnw/ T2 huwn 25000 50000 2
20(34330000 [8ninh Unhs HW -50 c2 hwn 25000 50000 7
21|34330000 |Unilg /crynuua/ T2 hun 7000 14000 2
22(34330000 |[vwunip 52 huitn 700 7000 10
23|34330000 |Uwppnn junqubiuy (674 hwjwpwsm | 200000 200000 i
24134330000 |Utptbugh hwunnprpul T2 hwin 1800 1800 1
2534330000 |Utinunn mwthonuiy 64 hwywpwdnt 2000 " 2000 1
26(34330000 |TNnuwy 3k-9 cl huin 180000 180000 il
27|34330000 [3ninh $hpunp G/ hun 1200 3600 2
28(34330000 [fvwiphupuh dkliwplyhs T2 hwwn 6500 6500 1
Lhnukin 4000000




4 109134200 |nhqtjujht quntihp c2 1hwnp 390 7000000
5 (09411700 [Uknuywd phwljub quiq c2 fud 4000000
6 Chuwlyniptp
1/14300000 |Unuuquyht wplnipn PLULZ tuu 6500 650000 100
Owruynip/nGltn 380000
71311280 |k Eutpghw eruL npund 200000 )
2 164000000 |[Ywy PRU2 npud 180000 1
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